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image7.jpg
Caribbean cordial

Correct response

Additional guidance

% or equivalent

} or equivalent

Change of units
Accept provided the new units are clearly
shown

eg, for the second mark accept

Incorrect units inserted in an otherwise
correct response
eg, for the first mark
‘058
Penalise only the first such occurrence
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Crisps

Correct response.

Addional gudance |

t Incorrect wnits given
Ignore
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Measuring

Correct response

‘Additional guidance

ives a correct explanation that shows the
relationship between the volume of the jug and
one lire
&

1052 jugs

= Fill the jug once, pour it in the bucket and

fill it again

= He uses 500 + 500

= Ajugis half a litre

= Empty into the bucket twice

 Minimally acceptable explanation
e
« Fill it twice
* 500ml x2

 Jug assumed to be calibrated

e
+ Put 200ml in the jug, then repeat o give
a total of 5 times




image10.jpg
Caribbean cordial

Correct response “Additional guidance

1 or eqivalens + Change of units
Aerep providd the new e e cleely
showa
o the second mack sccepe

3 or cquivalent

response
for the frst mark
“05g
Penalise only the first such occurrence
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Correct response
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[rr & Quesion|

1

10

100 G00D) 10000

s Scales
Correct response ‘Additional guidance
ala 1m| 900
im| 200 1 Follow through
Accept follow through as
1100 - their value for the first mark,
o) provided this gives a positive value
=
bb) 1m | Indicates 1000, ie
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! Follow through
Accept follow through as
1100 - their value for the firse mark,
provided this gives a positive value

Indicates 1000, ie

)
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Correct response ‘Additional guidance

Indicates France and gives a correct  For 2m, minimally acceptable justification
justification

3
* 370370 and 506493 (or 506494) seen

. 1000000 780000
327 s

1000000 + 270 = 3703.(...) (or 3704),
780000 + 154 = 5064.(...) (or 5065)
1000000 + 2.7 x 1.54 = 570370,
780000 + 1.54 x 2.7 = 1367 532.(...)

For 2m, accept values of 3700(00) and
5000(00) or better, 570000 or better, o
1400000 or beter
Accepe other estimates only if a correct
method o a more accurate value is scen
eg, accept
+ £1s about 24 dollars, s0 1000000
dollarsis about £400 000,
£1s about 1 euros, s0 780000

euros is abour £500000

x For 2m or tm, justification simply repeats
the decision made

8
1m| Indicates France and gives a partial justfication 1000000 Australian dollars are less than
s 780000 euros
1000000 = £400000,
780000 = £500000

France:
[values truncated with no indication of
method or that original values were of the
same magnitude]

or

Gives a correct justification but makes an
incorrect or no decision

or
Gives a correct justification with not more than

one computational or rounding error, but
follows through to make their corret decision
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Pregnancy

‘Additional guidance

Dolphin

 Unambiguous indication
eg, for part (a)
‘W

. 365
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Changing 120

Correct response

‘Additional guidance

1.2 or equivalent

0.12 or equivalent
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Pregnancy

Correct response

Additional guidance

Dolphin

 Unambiguous indication
eg, for part (a)

. 365
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Changing 120

Correct esponee Addiional gudance |

tm| 0.12 or equivalent
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m| 12

m| s

tm| 40
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Tier 8 Queston
Cake
Correct response ‘Additional guidance
a 1m| 450
b 1m | Indicates the correct position on the scale, ie + Unambiguous indication
P L - N
300 Accept indications that are closer o 275
than cither 250 or 300
< tm| 2pm or 14:00  Time ambiguous or incorrect
e
* 2 0'dock
« 14:00am
d 1m | Indicates Cylinder, ie
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Tier Queston

Containers

Fs[aa[s o]

19]12] 3 Correct response nal guidance

1m | Indicates A and gives the value 250
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l19]12| Correct response Additional guidance
III i o _
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Tir & Question

Placing 40

e
3 Correct response Additional guidance
m | Indicates 40 in the correct position, ie t Inaccurate indication
‘Accept provided their indication i closer to
l the correct marker than any other
0 200
1m | Indicates 40 in the correct position, ie t Follow-through
For the second mark, accep responses in
L ‘which the distance between the arrow and
2ero s half as big as for the first mark
0 400
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Shopping

Correct response

Additional guidance

m| £115

m| s

! Reference to remainder

Condone reference to the correct amount of
‘money left over
eg, accept
* 5 with 20p change
+5r20
eg, do not accept
*5.5(...) 0 5.6
+ 5 with 55p change
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Indicates the correct value on the scale, ic

Accept provided their marker would touch
the circumference of the dial within 2mm
o the correct position, if extended
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Tier & Queston

[35[as[s 76|

Jug

Correct response

Additional guidance

m

m

m

750

100

5

1 or equivalent fraction or decimal
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bas already been counted
For answers of 4 for part (a) followed by
5 for part (b), mark as 0, 1

Il mf s t Response assumes the piece of track shown
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t Reference to remainder

Condone reference to the correct amount of
‘money left over
8. accept
« § with 20p change
+ 5620
eg. do not accepe
55 06 5.6
* 5 with $5p change
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Tier 8 Question

5]

Speedometer
Correct response. Additional guidance
Im | Indicates the correct value on the scale, ie ! Inaccurate indication

40 60

mph

Accept provided their marker would touch
the circumerence of the dial within 2mm
of the correct position, if extended

m| 40
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Tier 8 Question

Jug

)

8 Correct response Additional guidance
1m| 750
1m| 100
m

1 cimal
4 or cquivalent fraction or decimal
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Track

Correct response ‘Additional guidance

s 1 Response assumes the piece of track shown
has already been counted

For answers of 4 for part (a) followed by

5 for part (b), mark as 0, 1
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Show the values in grams do not consistently go.

up/down in steps of 25 per ounce
Y
= It goes up in 255 untilthe step from 3 t0 4
‘ounces when it suddenly goes up 35
# It should go from 150g down to 125g, but
it 110g instead

‘Show that the relationship between two
values in grams is not what other values
would predict

161 ounce is 25, then 4 ounces should
be 25 x4 = 100g not 110g

165 ounces is 150g, then 10 ounces should
be 150 x 2 = 300g not 275g

10 ounces in grams should be

25 x 10 = 250, but it s 275 in the table
5042225, but 150 + 5 = 30

x Explanation does not use the values in the
iven table
@
* 1 ounce is more like 285
+ They only use 25 as roughly cqual, so

those values are not accurate

t Explanation states or implics what values
“should be’ or that the table s ‘incorrect’
Condone

 Minimally acceptable explanation
«

* It goes up in 255 a firt but then
changes

+ It goes up 25, 25, 35, 40 and so it is ot
2 steady pariern

+ It should go 25, 50, 75, 100

+ The numbers should go up by the same
amount each time

x Incomplete explanation

@
«25,25,35,40
* 4 ounces should be 100g and
10 ounces should be 250
* They doa't go up in proportion.
v Minimally acceptable explanation
@
«25x42110
+ 4 should be 25 x 4 = 100
150x22275
* 1 Sis 150, then 10 should be 300
© 5042215045

* 100z should equal double Soz but
it doesn't

x Incomplete explanation
®
* 1 ounce is 25g 50 4 ounces shouldn't
be 110g.
* 5 ounces = 150g, but 10 ounces = 275g
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Shows or implies a correct rate, other than
1 mille every 3 seconds, even if it doesn't use:
single units of time

20 (miles) per minute

1 3

4 mile)in a sec

10 miles in 30 seconds
60 miles every 3 mins

Shows or implies  complete correct method
with not more than one computational or
rounding error
@

- 20x60

60
- Lo
+ Lo
33 (premature rounding)

+ For Im, wnit(s) abbreviated
Condone provided unambiguous within the
context of the question
eg, for Im accept
* 20m per min

. %m [miles implied by given context]

eg, for 1m do not accept
* 20m per m [ambiguity between miles
‘and minutes]
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‘Water
Additionsl guidance.

¥ Unambiguous indication

! Inaccurate indication
Accept provided the pupil's intention s cear




image35.jpg
more than one computationa error

(O +H 1
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|| I

m s

II m

Additionsl guidance
X Any reference to extra days

% Any reference to extra weeks or days

Baby
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[Tier & Question|

Bsfe-e[s7]e-o] Scales
3 Correct response Additional guidance
a m| 60  Value between 59 and 61 inclusive.
t Units given
Ignore
b 1m| Indicates the correct position  Unambiguous indication

5 ‘ &
1 1
0 100 0 60 100
t Follow through

Accept follow through from part (a),
provided their (a) is not 0, 50 or 100

Position not indicated accurately
Accept within 2mm
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1]

||| zm
m

Indicates shop A
and

gives a corect justfication, based on correctly
calculating a pair of comparable values.

atshopA:2x5- 10,
atshop 8: 150/ x 3- 1050)

- 35x3-2x5-05

* 2:3=08.)
350+5-07

= For 1 you get 1} doughnuts or 1§ doughnuts

= You pay £1.50 extr for 2 more doughnuts, but at
shop A theyreles than 75p each sa shop A must
bea better deal

‘Shows a comrect pair of comparable values but makes
either an incorrect or no decision

‘Shows a complete correct method for finding a
pai of comparable values with not more than cne.
computational or rounding error, and follows through
to make their correct decision
eg
* 5x2,3x 350, shop Aindicated.
© 2+3=075(eron,

350 +5 =07, shop B indicated

o
Makes a correct decision but the justfcation uses

only the difference between a pair of comparable.
values

e
A doughnutis 33(..)p cheaper at shop A

Doughnuts
Additionsl guidance

X For 2m, no decision
' For 2m, correct decision and any pair of

comparable values shown
Note that common pairs(in pounds) are:

103nd 1050 (per 15 doughnuts)
06(-) and 070) (per 1 doughnu)
2and 210 (per 3 doughnuts)
33)and 350 (per s doughnuts)
15and14() (doughnuts per pound)

1 For 2m or 1m, comparison s per 3 doughnuts
or per 5 doughnuts but the given price is not
restated
Condone.
eq. for 2m accept
« Atshop B, 3 doughnuts would be £2.10

1 Additional incorrect working.
Ignore
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a Stopping distances
Mark Correct response ‘Additional guidance

Im Draws a bar for the stopping distance for 40mphof | Bar incorreetly positioned
length 9cm, ie Condone if bar is drawn correctly one line above
‘or below the position shown

1 Followthrough
Allow folow-through as 2  the length of
their barin 8, provided the result s reater
than 12
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T st

Py
Mark Corroct response.
A Jun(e) 26th

m  Noviember)

Birthday

Additional guidance

t Month omitted
For part (a, condone
og. accept
.2
For part ), do not accept

‘eg. for part () accept
» Friday, Nov 5th 2003

Date given in different form
For part (a). accept only if unambiguous
g, for parta) accept

.26

* 626 US notation)

For part &), accept

on
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prpy Balancing
Mark Corroct response. Additional guidance

m 3

m 2

®
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Changing units
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NN -

m
or
m

Additional guidance
ESY X Answer of 3334

a7

Shows the value 4347 8(... or 4348
or

Shows or implies a corect method
* 10004023

* (%1000 +023

+ 14000023
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Tir & Gusston.

g
||| e

Shows the digits 5075(0) and 5375(0)

Shows a complete corect method with not more.
than one computational error

09

 215x250-203x 250

© 012x250
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Glass bottles

o
Method uses repeated addition with only one. % Use of thr = 100 min
computationsl error g
Py ©1-252-50,3-75, 4= Thr
1-25,2-50,3- 1h 15,4~ 1hedo, 10.x 4~ 0bottles
5= 2he 15 oror, 10 = 4he 30,
20- 9hrs, 22~ 9hes S0
Answer = 22 botties
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Temperature

1.5 or equivalent

37.9 or equivalent

Additional guidance

46.5 or equivalent

Shows or implies a complete correct method
with not more than one error

e
. (1157-32)x5+9
. 157-32

AT s

827x5+9=459(..)
46

47

Digits 465 seen

1 For 1m, necessary brackets omitted
As this i a level 4 mark, condone
eg, accept

“1157-32x5+9
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Water

Correct response

Additional guidance

Shows a complete correct method

eg
= 18x1000

. 1840225

. 225x2=450
450 x 2 = 900
900 x 2 = 1800
2x2x2

Shows the value 1800 or 0.225

/ Value qualified
s
* Abou 8

48
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Temperature

‘Additional guidance

46.5 or equivalent

Shows o implies a complete correct method
with not more than one error

@ (NS7-32)x549
o 187-32
L

» 115.7 - 32 = 82.7 (error),
82.7x549=459.)

.6

.47

= Digits 465 seen

t For Im, necessary brackets omitted
As this s a level 4 mark, condone

€8, accept
C157-32x549
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. 1820225

900 x 2 = 1800
2x2x2

Shows the value 1800 or 0.225

48
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Correct response

‘Additional guidance

s correct explanation tha shows the
relacionship between the volume of the jug and
[

162 jugs

Fll the Jug once, pour i in the bucket and
il it again

He uses 500 + 500

Alug s half a e

Empry oo the bucket twice

 Minimally accepabie explonation
% B
* Somixs

/ Jug assumed o be calibrated
«
+ Pur 200mi in the jug, then repet 1o give
atonalof § times





